Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)
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Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE) Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE) SI/B vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)
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2y fit mean vs. Iteration
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3Mass Spectum for final iteration (E1

E2 > 500 MeV)
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3Mass Spectum for final iteration (E1

E2 > 700 MeV)

x10 Entries 4.247745e+07
r X2 / ndf 7926/ 165
r Prob 0
C Fi = + 0 po 3.466e+05
E Fit o/p =5.350 +0.010 % b1 01359
C p2 0.007272
— p3 1.187e+05
o p4 0.01447
- p5 -4.811e+06
- p6 1.628e+06
r p7 -5.108e+04
- —

e N A S S T T
0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2
m(2y) [GeV]

Mass Spectum for final iteration (E1, E2 > 1100 MeV)
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Current iteration (Blue), last iteration (Green), and current ccdb constants (Red) Current iteration (B|Ue) and current ccdb constants (Red)
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